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A customer has defined a requirement to enable all virtual server instances in the proposed
VPC to be

able to access automatic operating system updates via the

Internet. What is required to provide this functionality?

A. A subscription to the IBM Auto Update proxy service

B. Each server must have a Floating IP address

C. The pre-defined Automatic Updates Security Group must be enabled
D. Each subnet must have a Public Gateway

Answer: B

Which Cloud Pak provides a data transfer tool utilizing the FASP protocol to provide significantly
faster throughput than typical FTP?

A. Cloud Pak for Migration

B. Cloud Pak for Integration
C. Cloud Pak for Automation
D. Cloud Pak for Applications

Answer: B

Which statement best describes the Watson Tone Analyzer service?

A. The Watson Tone Analyzer service uses linguistic analysis to detect emotional and language
tones in written text

B. The Watson Tone Analyzer service understands the sentiment and emotions in documents

C. The Watson Tone Analyzer service uses deep learning models to analyze tones across social
media platforms

Visit us athttps://www.certswarrior.com/exam/c1000-118/


https://www.certswarrior.com/exam/c1000-118/

D. The Watson Tone Analyzer service uses acoustic analysis to detect emotional and language
tones in audio

Answer: A

Which service does IBM Cloud Pak for Data utilize to organize data through data classification
and governance?

A. Watson Health Catalog Service

B. Watson Chat Catalog Service

C. Watson Data Catalog Service

D. Watson Knowledge Catalog Service

Answer: D

A web application has been deployed in an IBM Virtual Private Cloud. In testing, it's discovered
that the web server is not responding to requests over the Internet. What could be the
problem?

A. The VPC load balancer hasnA€™t been configured with the SSH key for the web server

B. The subnet ACL has an ALLOW ALL inbound rule set at Priority 1 but a BLOCK ALL inbound
rule set at Priority 2

C. The VPO£€™s Vyatta Gateway does not have a NAT configuration for the web server group

D. The web server is in a Security Group which is missing a rule that allows inbound traffic on
port 80

Answer: D
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